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If you find any errors in the code below, please let me know.
Ed Carter
esc952@gmail.com

2 Long Wicks at Bottom

TC2000 Version:

MINC5.2 >= Cl AND
H <> L AND
H1 <> L1 AND

C AND (O - L) >= ((H - 0) * 2) ) OR
O AND (C - L) >= ((H -C) * 2) ) OR
(O=CAND (C - L) > ((H-C) * 2) ) ) AND

ANEAY

( (01l <Cl AND (01 - L1) >= ((H1I - 01) * 2) ) OR
( Cl <01 AND (C1 - L1) >= ((H1I - C1l) * 2) ) OR
(01 =Cl1 AND (C1 - L1) >= ((HL - C1) * 2) ) )

TOS Version:

# Two Long Wicks at Short-Term Bottom

# A potential Bullish Reversal Setup

# Written by Ed Carter

#

def O = open; def C = close; def H = high; def L = low;

def 01 = open[l]; def Cl = close[l]; def H1 = high[1l]; def L1 = low[l];
def MINCS5 = Lowest (close, 5);

#
plot LgWkBot = (
( (01 <Cl AND (01 - L1) >= ((H1 - 01) * 2) ) OR
( Cl <0l AND (Cl - L1) >= ((H1 - Cl) * 2) ) or
( 01 == Cl AND (Cl - L1) >= ((H1 - Cl) * 2) ) ) AND

MINC5[2] >= Cl AND
H <> L AND
H1 <> L1 AND

( (O<CAND (O -1L) > ((H-0) * 2)) OR
(C<OAND (C-1L) > ((H-2C) * 2)) OR
(O==CAND (C - L) > ((H-20C) * 2)))

2 Long Wicks at Top
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TC2000 Version:

MAXC5.2 <= Cl AND
H <> L AND
H1 <> L1 AND

( (O >CAND (H-0) > ((O-1L) * 2) ) OR
(C>O0AND (H-C) > ((C -1L) * 2) ) OR
(O0O=CAND (H-C) > ((C-1L) * 2) ) ) AND

( (01 >Cl1 AND (H1 - O1) >= ((O1 - L1) * 2) ) OR

( Cl > 01 AND (H1 - C1) >
( 01 = Cl AND (H1 - C1) >

((C1 - 1L1) * 2) ) OR
((C1 - L1) * 2) ) )

TOS Version:

# Two Long Wicks at Short-Term Top
# A potential Bearish Reversal Setup
# Written by Ed Carter
#
def O = open; def C = close; def H = high; def L = low;
def 01 = open[l]; def Cl = close[l]; def H1 = high[1l]; def L1 = low[l];
def MAXCS5 = Highest(close, 5);
#
plot LgWkTop = (
MAXC5[2] <= Cl1 AND
H <> L AND
H1 <> L1 AND

( (O>CAND (H-0) > ((O-1L) * 2) ) OR
(C>O0AND (H-C) > ((C -1L) * 2) ) OR
(O0O==CAND (H-C) > ((C -1L) * 2) ) ) AND

( (01 > Cl AND (H1 - O1) >= ((O1 - L1) * 2) ) OR
( Cl > 01 AND (H1 - Cl) >= ((C1 - L1l) * 2) ) OR
( 01 == Cl AND (H1 - Cl) >= ((C1 - L1) * 2) ) )




